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Principal Assessor’s comments on 4F1

Question 1. Most candidates were successful with part (a) and part (b)(i)-
(ili). A number of candidates were not able to deduce the correct form for
the full root-locus diagram. A majority of candidates were able to get at
least some way with the final part.

Question 2. This question was answered fairly well by most candidates.
The main design task in Part (c)(i) was approached in an overly complex
manner by many candidates who failed to notice that a lag compensator
was sufficient to do the job. Few candidates noticed both the main points
required in Part (c)(ii): the phase penalty from the steeper roll off between
w1 and wy and from the right half plane zero.

Question 3. Most candidates were able to do parts (a)-(c). Part (d)
caused difficulties for some candidates who made elementary mistakes in
sketching Bode diagrams. Few candidates successfully completed part (e).
Disappointingly few noticed that K; should be placed in the forward path
and K in the feedback path.

M.C. Smith, 6 June 2011





